year cpi - Fth /mf/ﬂﬁ;"" F"f Cacl

1973 44.4

1974 49.3

1975 53.8 % b :(Tz -TD

1976 56.9

1977 60.6 71_

1978 65.2

1979 72.6

1990

130.7

1991 136.2

1992 140.3

1993 144.5

1994 148.2

1995 152.4

1996 156.9

1997 160.6

1998 163.1



5. Calculate the foﬁbwing given the following information about the economy in 1975,

1985, and 1995: nervira] %4 = @#DX [00

Lew) frice Leve! ‘
Prite 1975 1985 1995
C Nominal GDP(in billions of dollars) 1,630.6 4,180.7
GDP deflator(index, 1992=100) 422 78.6 108
Real GDP(in billions of 1992 dollars) o o 6,756.48

a. Nominal GDP in 1995.
b. Real GDP in 1992 dollars in 1975 and 1985.
¢. Rise in prices from 1975 to 1985.

d. Growth in nominal output from 1975 to 1985.

6. Answer each of the following questions about nominal out/put, real output, and
inflation: Yohres) = Yobnom/ie| = Ny

a. Nominal output increased from 6.5 trillion to $6.9 trillion from 1993 to 1994. The
GDP deflator rose over that some year by 2.3%. By how much did real output increase?

b. Real output increase from $4.9 trillion to $5.1 trillion from 1992 to 1993. The GDP
deflator rose over that same year by 3%. By how much did nominal output increase?

c. Real output decrease from $4.8 billion in 1990 to $4.7 billion in 1991. Nominal output
rose by 2%. By how much did the price level rise from 1990 to 19917



Year

year

1973

1974

1975

1976

1977

1978

1979

1990

1991

1992

1993

1994

1995

1996

1997

1998

Annual Rate’of
~

Average Inflation

44.
49.
53.
56.
60.
65.
72.
130.
136.
140.
144.
148.
152.
156.
160.

163.

cpi
4

3
8
9
6
2
6
7
2
3
5
2
4
9
6

1

11.

11.

inflation rate

0%

1%

.8%

.5%

.6%

3%

4%

2%

.0%

. 0%

.6%

.8%

.9%

.4%

.6%

%A-'— /7;."7;2 /00




5. Calculate the folféwing given the following information about the economy in 1975

1985, and 1995:  ° o feal 2 Jemil [/7;{. 4g= M
( ] e Lever 108

757,

Vice Lewel 1975 1985 9 s log X C75¢

@vominal GDP(in billions of dollars) 1,630.6 41807 72 ferteaT Forr
DP deflator(index, 1992=100) 422 .78.6 138, e "

Real GDP(in billions of 1992 dollars)/  §872.5¢  £318-96 6756.48

honrre/ 1' /‘;V'é . ‘1/80.'7

lte Lere | 922 / -77?[

c. Rise in prices from 1975 to 1985. %4 = / & 72 x /oo Mé) /60 = 3(
L,

a. Nominal GDP in 1995.

b. Real GDP in 1992 dollars in 1975 and 1985. 1 ca| =

2-2
~ 143
d. Growth in nominal output from 1975 to 1985. %4 = (r T) X ,0,.,_1’,'1"2____3 )X /
, /¢3%0- ¢
= )$56.49%
6. Answer each of the following questions about nominal output, real output, and
inflation: - (% _1}) ({—7—(,5‘? Joo={
A 2 & X /6o 6
AT 5= X Joe ¥ ¥

a. Nominal output increased from 6.5 trillion to $6.9 trillion from 1993 to 1994. The
GDP deflator rose over that some year by 2.3%. By how much did real output increase?
0/0 A real =z Ze D h()m/ng | — /b\F/-// oL
: T % 2-2%
2:3% ¢

b. Real output increase from $4.9 trillion to $5
w Al ofleflator rose over that same year by 3%
“¢.9 Oharesl = Yeduomna] — /uPlsTVon

-y l'% 4?&[/ = VM e 3%

illion from 1992 to 1993. The GDP

c. Real output decrease from $4.8 billion in 1990 to $4.7 billion in 1991. Nominal output
rose by 2%. By how much did the price level rise from 1990 to 1991? 4-/%.

0/00 real = 7% d‘nonm.“/ — /LF/</7'0‘7
—~Z2-1% = 2% — I~
@ 7-4 5)

“1.8
- %%




